Explanation of 2007 Micro FR Question #3
Take apart the question.  This is a duopoly (2 companies).  Pay attention that the first entry in each cell is the payoff to Roadway and the second entry is to Rankin Wheels.  Leaving early and late are STRATEGIES and the numbers inside are PAYOFFS (companies choose strategies, NOT payoffs!!!!!!!!).  They choose strategies based on payoffs!
a.)  This should be relatively obvious: an oligopoly (more specifically, duopoly).

b.) Cross out the bottom row (since Roadway has decided on taking an early departure).  The question is: if Rankin Wheels sees that Roadway has chosen to depart early, what will Rankin Wheel’s decision be (early or late) to maximize profits (remember, firms are profit-maximizing)?  Well if Roadway leaves early, Rankin will earn $900 if they leave early while only $850 if leave late.  Therefore, Rankin will leave early.

c.) The key to dominant strategy is to identify which strategy a firm will choose regardless of what the other firm chooses to do.  In this case Roadway is paid more if it leaves early than if it leaves late (the first entries in the cells in the top row are greater than the first entries in the cells in the bottom row).  What this means is that Roadway would be stupid to choose anything other than to leave early.
-Further explanation: If Roadway leaves early and Rankin Wheels leaves early, Roadway makes $1000; however, if Roadway leaves late and Rankin Wheels leaves early, Roadway only makes $750.  If Roadway leaves early and Rankin Wheels leaves late, Roadway makes $950; however, if Roadway leaves late and Rankin Wheels leaves late, Roadway only earns $700.  Therefore, in both cases it is better for Roadway to leave early (thereby, leaving early is the dominant strategy for Roadway).

d.) No.  Rankin Wheels makes more money if both leave early than if Roadway leaves early and Rankin leaves late.  However, Rankin makes less money if they leave early and Roadway leaves late than if Rankin leaves late and Roadway leaves early.  Thereby, if Roadway chooses to leave early, Rankin will choose to leave early and if Roadway chooses to leave late, Rankin will choose to leave late.  This does not fit the criterion of a dominant strategy (no matter what the other firm does, the other firm will always choose the dominant strategy).
e.) This calls for a little thinking.  First, according to part c.) you know that Roadway will always choose to leave early (since leaving early is the dominant strategy for Roadway).  Therefore, you know that Roadway will never end up choosing strategies with payoffs in the bottom row (cross out the bottom row for possibilities).  Now evaluate the top row.  If Roadway chooses to leave early, will Rankin leave early or late?  Early ($900>$850).
-Further point: If they did cooperate, they would end up in the same spot (think about it).  This outcome is socially optimal also, since the payoffs are the highest (when added up). 
